Chapter 9  Sections 9.1–9.4    Even Answers Mostly!
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Section 9.1

Class Exercises

1. 81

2. -4
3. 0.02
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13. 1.44 sec

14. 47.0

Section 9.1

Practice Exercises

2. 9

4. ½ 

6. 125
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Section 9.2(continued)
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12. as b increases, the 
‘slope’ of the curve increases
14. -1/2

16. 0

18. 352

20. 3486

22. 302,000,000

23.[image: image15.jpg]



24. y = 0  [image: image16.jpg]



25.[image: image17.jpg]



26. y = 3  [image: image18.jpg]
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28. y = 1  [image: image20.jpg]


 

29. solids lines

    [image: image21.jpg]



Section 9.3(continued)
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26. D: x > -6/5

       R: Reals

    (198.8,0) & (0,-2.2)

   Asymptote: x = -6/5

   Increasing
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30. By the ‘Russian Thm’
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then ‘down in front!’
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31. Russian Theorem!
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    Down in front!
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32.  9.9%

34.  1000 times

36.  3.02 x 10-5
            1 x 10-7
       3.16 x 10-9
37. shift right 2

 and up 3 vs calculator 
19. ‘by hand’ factor 


� EMBED Equation.DSMT4  ���


x-intercepts: x= -5,2


axis: � EMBED Equation.DSMT4  ���


20. 2.05


22. -5.05


24. 3.48 s


26. � EMBED Equation.DSMT4  ��� 


28. � EMBED Equation.DSMT4  ���


30. 2xyz4 


31. �


32. � EMBED Equation.DSMT4  ���


            � EMBED Equation.DSMT4  ���


34. With nth roots use the � EMBED Equation.DSMT4  ��� button.


 �


With fraction exponents  to find � EMBED Equation.DSMT4  ��� you have to use more keystrokes


�








36. 0.10


38. .02


40. 1.26


42. 3.10 in


44. � EMBED Equation.DSMT4  ���


46. � EMBED Equation.DSMT4  ���


48. � EMBED Equation.DSMT4  ��� 


50. n even: x3, n odd: -x3


52. Relatively prime means m/n will be a fraction unless n = 1 (since n was positive), then m needs to be odd. If � EMBED Equation.DSMT4  ���, then ‘n’ needs to be odd. 


54.� EMBED Equation.DSMT4  ���


      � EMBED Equation.DSMT4  ��� 


but for m < 0, � EMBED Equation.DSMT4  ��� and if n is even, then � EMBED Equation.DSMT4  ���. 





Review 9.1


1. � EMBED Equation.DSMT4  ���


2. � EMBED Equation.DSMT4  ���


3. � EMBED Equation.DSMT4  ���


4. � EMBED Equation.DSMT4  ���


5. yes


6. -15.625


7. 2.5


8. -2.5








30. 4, -1


32. ¼ 


34. T = 10,000(1+.1)t 


 T = $25,937.42


36. The range of the cubic curve is all reals vs the exponential curve where: y > 0. This ‘cubic’ curve had bumps.


38. P = 2.7W


40.�


41. �


42. g(x) = 2x+3 


43. f(x) = 3-x-4


44. � EMBED Equation.DSMT4  ���


    �


45. � EMBED Equation.DSMT4  ���


    �


46. �


47. � EMBED Equation.DSMT4  ���, .75 kg


48. 1.75%





Challenge 9.2


1. 1


2. 7








Section 9.2


Class Exercises


1. increasing


2. increasing


3. decreasing


4. increasing


5. decreasing


6. decreasing


7. 5/8


8. 10


9. -5/9


10. 5


11. 264,000,000


12. 53.1 g/cm2





Section 9.2


Practice Exercises


1.� 2.�


3.� 4.�


5.� 6.�


7.� 8.�


10. If b = -4 and x = ½ , then bx would not be defined. For some negative values and fractional x-powers the expression is defined. We define the function for  b > 0.





    





� EMBED Equation.DSMT4  ���





Section 9.3


Class Exercises


1. -2.49


2. 8.36


3. .11


4. 10,011.52


5. 10y = 100.3


           y = 0.3


6. b2 = 36


     b = 6 (b > 0)


7. ey = 1


     y = 0


8. 6-3 = x


      x = 1/216


9. increasing


10. decreasing


11. incr


12. incr


13. D = � EMBED Equation.DSMT4  ���


       R = Reals


(0,1) & (-9,0)


Asymptote: x = -10


Increasing


�


14. D: � EMBED Equation.DSMT4  ���


     R: Reals


Intercept: (e+1,0)


Asymptote: x = e


Increasing


�


15. 60 db


16. loudness in bels = 6 b


� EMBED Equation.DSMT4  ���


6 b = 60 db 


          (decibels)








Section 9.3


Practice Exercises


2. 5.2529


4. .6826


6. 32-3/5 = x, 1/8


8. ey = e4 , y = 4


9. �


10.�


12. � EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���


14. D: x > -0.1


       R: Reals


(.9,0), (0,-1)


Asymptote: x = -.1


Increasing


�


Xscl = .1, Yscl = .1


16.�


17. �


18. �


20. 120 db 


22. 6.7


24. � EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���


   �





38. 251.2


40. y = log4 (x – 1)


42. � EMBED Equation.DSMT4  ���


44.  2.3


46.  101 db or 3 db louder


48. Let � EMBED Equation.DSMT4  ���,


� EMBED Equation.DSMT4  ���


 Since f(x) = ax is 1-1, am = an iff m = n (a > 0, a � EMBED Equation.DSMT4  ���1), so…


� EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���


y = loga x is the inverse of  y = ax, so 


� EMBED Equation.DSMT4  ���, so…


� EMBED Equation.DSMT4  ��� or 


� EMBED Equation.DSMT4  ���, qed.


Test Yourself  9.3


2. 17.8


4. � EMBED Equation.DSMT4  ���


6. -3/2


8.  D: x > 0


     R = Reals


Intercept: (12.2,0)


Asymptote: x = 0


�


10. 8,285,213





Section 9.4


Class Exercises


1. a0 = 1


2. b1 = b


3. 0


4. ln 2








5. � EMBED Equation.DSMT4  ���


6. � EMBED Equation.DSMT4  ���


          � EMBED Equation.DSMT4  ���


7. � EMBED Equation.DSMT4  ���


8. � EMBED Equation.DSMT4  ���


9. D: x > 0, 1


10. D: x > 0, � EMBED Equation.DSMT4  ���


11. 107





Section 9.4


Practice Exercises


2.� EMBED Equation.DSMT4  ��� 


� EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���


4. � EMBED Equation.DSMT4  ���


6. � EMBED Equation.DSMT4  ���


  � EMBED Equation.DSMT4  ���


8. � EMBED Equation.DSMT4  ���


10. � EMBED Equation.DSMT4  ���


11.�


12. � EMBED Equation.DSMT4  ���


vs � EMBED Equation.DSMT4  ���


13. lower curve…


    �


14.  f(x) = 3x and then f-1(x) = log3 x  


f-1(f(x)) = x  or 


f-1(f(M)) = M








16. x > 0, Tx = {1}


18. � EMBED Equation.DSMT4  ���


20.


� EMBED Equation.DSMT4  ���


or � EMBED Equation.DSMT4  ���


22. � EMBED Equation.DSMT4  ���


24. � EMBED Equation.DSMT4  ���


26. -5


28. ‘down in front!’


a = -2, y = -log x


a = -1, y = 0


a = 0, y = log x


a = 1, y = 2log x


a = 2, y = 3log x


�


30. D: x > 7/6, {5/3}


32. D: x > 0, {1/3}


34. $3600


36. 49.5 cm


38. D: x > 0, {.001}


40. D: x > 0, {1}


42. no solutions


44. � EMBED Equation.DSMT4  ���





Review 9.4


1. 1 – sin 2x


2. 1


3. D: � EMBED Equation.DSMT4  ���


   � EMBED Equation.DSMT4  ���
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